TO: IHK



Republic of the Philippines VISAYAS STATE UNIVERSITY Visca, Baybay City, Leyte

PURCHASE REQUEST

PPMP No.: PPMP-2025-092624-0647

Dept./Office: IHK

PR No.: STF-2024-10-02945

Date: 01-08-2025

Section/End-User: Marvin B. Bandalan

Category: Sports Supplies

Funding Source: Special Trust Fund

Project Title/Code: Athletic Fee 2025

Item	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	Arnis Padded Stick	pair	20	700.00		14,000.00

Specification:

Pair of Red and Blue Padded Sticks

		Name and Address of the Owner, where the Owner, which the	STATE OF THE PERSON NAMED IN		
2	Badminton Net, Official Size	pcs	10	500.00	5,000.00

Specification:

Material: Cotton, Polypropylene, Nylon rope

Good quality

- Specifications: Standard venues, 600 cm x 70 cm.
- Material: Cotton, Polypropylene, COTTON Rope.
- · Easy to instal
- · offical size

3 Ball, Basketball, G7, pc 15	3,000.00 45,000.00
-------------------------------	--------------------

Specification:

- FIBA Approved premium composite leather
- Signature patented 12-panel design.
- · Nylon wound butyl bladder.
- · Construction: Laminated.
- · Offical size and weight.
- · For indoor use only.
- · Size:7
- · Comes inflated directly from the factory.

4	Ball, Basketball, GG6x, size 6	рс	10	3,000.00	30,000.00
-					

Specification:

- FIBA Approved premium composite leather
- Signature patented 12-panel design.
- Nylon wound butyl bladder.
- Construction: Laminated.

- · Offical size and weight.
- · For indoor use only.
- Size: 6
- · Comes inflated directly from the factory.

5 Ball, Beach Volleyball pc 5 4,300.00 21,500.00

Specification:

- · Official Size and Weight
- FIVB Approved; Material: Super Composite Cover; Constrution: Stitched
- Iconic 10-paneled design with contrasting colors
- · High Water Resistance; Size: 5
- Size: 66-68cm
- Weight: 260-280g
- Material: Super Composite Cover with Recycle-Nylon
- Construction: Stitched

6 Ball, Softball boxes 2 7,200.00 14,400.00

Specification:

- 12pcs/box
- · Material: Leather
- · Color: Optic Yellow
- Compression Controlled polycore
- Super Seam Technology
- 12" ASA-NFHS Dream Seam Fast Pitch SoftballWorth's Official 12" fast pitch softballs has red stitching and are approved
 for play in the ASA and NFHS. These Worth's Dream Seam softballs has a raised seam with a high density cork and Pro
 Leather cover. ASA & NFHS Approved 12 inch. 47 COR375 Compression High Density Cork CorePro Leather Cover88 Red
 Stitch

7 Ball, Table Tennis, 40+, Polyball boxes 20 300.00 6,000.00

Specification:

Product: Premium Clean 40+ ***

Type: with seam Stamp color 1: Black Stamp color 2: Red Color: White

8 Ball, Volleyball, Official Size pcs 10 5,000.00 50,000.00

Specification:

- Material: Soft Leather
- Construction: Laminated
- Dimpled microfiber material
- · Blue and Yellow color pattern
- · Genuine, Approved by FIVB
- Exclusive official FIVB game ball Professional Model as seen in the world's top professional games
- · Iconic 8 panel flower petal design with contrasting colors
- · Double Dimple technology is used to minimize the air resistance and maximize the gripping power of the balls surface
- · Original Microfiber + PU material co-developed by Mikasa and Kuraray to create the highest quality volleyball with Anti-

9	Futsal Ball	_			
	Specification:	pc	10	2,500.00	
	 With PU Leather and 32 panel FIFA Inspected; Matte Surface Cover Material: PU Leather Construction: Laminated; Butyl 	Finish	nite and blue)		25,000.00
0	Home Plate, Softball/Baseball, White Hard Rubber, Official Specification:	pc	2	1,000.00	2,000.00
	 Rubber Home Plate Waffle bottom Throw down style plate Chrome Official home plate for baseball Solid white rubber with black be 16"L x 17"W x 1"H Includes 5 spikes Weight: 10 lbs 	and softba	all es for safety		
1	Marking/Traffic Cones (Orange) Specification:	pc	20	200.00	4,000.00
	Height: 0.31m Material: PVC Accessory type: Training acces Pitchers Plate, Softball/Baseball		20	200.00	4,000.00
2	Height: 0.31m Material: PVC		20	1,000.00	
2	Pitchers Plate, Softball/Baseball, White Hard Rubber, Official	pc	Easter of		2,000.00
2	Pitchers Plate, Softball/Baseball, White Hard Rubber, Official Colour White Item weight 8 Pounds Sport Baseball For use in baseball and softball Solid white molded rubber HEAVY DUTY Includes 2 Removable Metal Sp	pc	Easter of		

- Head Material: Two Layer natural cork
 BWF Approved

 14 Soccer Ball pcs 5 3,500.00 17,500.00

 Specification:

 Official Size
 - Synthetic Leather Cover
 - Construction: Laminated
 - Genuine, Approved by FIFA
 - Number of Panels: 32
 - Surface Finish: Mat Finish
 - · Cover Material: PU Leather
 - Construction: Laminated
 - Butyl Bladder
 - Size 5
 - Outdoor Use

15 Softball Catchers Helmet, Black	рс	4	2,500.00	10,000.00
Specification:				

- · Level: Adult
- Padding: Pro Dri Plus Fabric Covered
- Sport: Softball
- · Technology: Coofio Venting, Pro Dri Plus
- Usage: Helmets

	The second livery with the second				
16 Softball Gloves, Standard Size	set	2	40,000.00	*	80,000.00

Specification:

12 pcs/set (10 finger gloves, 1 cacther's mitt, 1 1st Base mitt)

finger gloves

- Features the 3D Basket Web patter
- This basket web is made by weaving leather and fabric for a deeper pocket
- Full grain leather shell and full grain leather laces
- · Features patented hand adjustments for a snug fit
- Zero Shock Palm Pad reduces sting
- Lower finger stalls and more narrow hand opening for a small hand
- · Game ready feel requires minimal break in time
- Zero Shock sting reduction palm pad
- · This glove is suitable for infield, outfield, and pitcher
- Right Handed Glove
- Designed for Left-handed throwers
- Size is 12.5"

Catcher's Mitt

- Game-ready Right off the shelf, the Renegade Series™ delivers quality at an affordable price.
- Ideal for youth, adult and recreational play, the features start with a full leather shell, an aditional palm pad for impact protection and a size-appropriate hand opening for maximum control.

- Sure Catch technology creates an easy-to-close glove right off the shelf, allowing for this to be your gamer glove with minimal break-in time.
- Leather shell palm construction for durability and shape retention
- Durable and lightweight pro mesh back design for optimal balance and added quickness
- High-density cushioned palm and index finger pads for added comfort
- · Game-ready feel right off the shelf
- · Left Handed Glove
- Right Hand Throw

1st base mitt

- Oil-Tanned Leather
- RHT (Right hand thrower)
- Left Handed Gloves
- High density cushioned palm and finger back lining
- Smooth inner lining with breathable materials
- Recommended for Adult or elite player
- size: 12.5"

17 Softball/Baseball Batting Helmet	рс	9	1,500.00	13,500.00
Specification:	1 1		1,000.00	13,500.00
Size: Adult				
Department: Unisex				
Sport/Activity: Baseball				

· Color: Blue

Type: Open Face

Certification Mark: NCCSAE

Padding Material: Foam

Shell Material: Polycarbonate

-					
18 S	pace Cones Marker Discs	set	5	350.00	1.750.00
-	16 A				1,750.00

Specification:

- Space Cones Marker Discs set
- Diameter: 19cm / 7,48"
 Each Height: 3.8cm
- Color: Orange
- [Included in the set] This exquisite toy cone accessory set consists of 60 bright eyes (red, orange, yellow, green, blue), 1
 mesh carrying bag and 1 plastic cone frame.
- [Durable-safe and flexible] Our thickened and upgraded ball cones are used for football practice. It is strong and light. The
 motion cone will not crack or fade.
- [High-quality ball cones] These ball cones are made of high-quality plastic, soft, soft, strong, sturdy, lightweight sports
 equipment, football cones, ball cones, football practice cones, basketball equipment and overall high-quality sports
 equipment and equipment sports accessories

19	Table Tennis	unit	2	15,000.00	
	Specification:			15,000.00	30,000.00
	-				

- Table Tennis with Wheels, Net, Post Plus Racket
- · net and post included

 square tube: 30x30mm wheel size: 50mm board thickness: 16mm weight: 73kg · 2 folds packing: 1600x 1480x 110mm size: 2740 x 1525x760mm 12,000.00 20 Taekwondo Gear Set 12,000.00 set 1 Specification: Consist of: Head Gear **Body Armor** Shin Guard **Arm Guard** Feminine/Groin Guard Hand Gloves LPSS - Foot Gloves PTA Approved TOTAL 398,650.00 Purpose: For varsity use. Funds Available: Checked by: ANDREW A MAZO ALICIA M. FLORES 1 UniFAST TWG - Sports Supplies HEAD, BUDGET OFFICE Prepared by: Noted by: Approved by: Signature: ALELYA. VILLOCINO MARVIN B. BANDALAN Printed Name: PROSE IVY G. YEPES UNIT HEAD, PROJECT LEADER Designation: PRESIDENT, VSU

material: medium density fire board (MDF)